
Let C =


c11 c12 ... c1n
c21 c22 ... c2n
c31 c32 ... c3n
... ... ... ...
cn1 cn2 ... cnn

, where cst = µ( s
(s,t−1) )

ϕ(2s)
ϕ( s

(s,t−1)
) , 1 ≤ s ≤ n,

1 ≤ t ≤ n,and n ≥ 3.

Example when n = 10 :

C =



1 1 1 1 1 1 1 1 1 1
2 −2 2 −2 2 −2 2 −2 2 −2
2 −1 −1 2 −1 −1 2 −1 −1 2
4 0 −4 0 4 0 −4 0 4 0
4 −1 −1 −1 −1 4 −1 −1 −1 −1
4 2 −2 −4 −2 2 4 2 −2 −4
6 −1 −1 −1 −1 −1 −1 6 −1 −1
8 0 0 0 −8 0 0 0 8 0
6 0 0 −3 0 0 −3 0 0 6
8 2 −2 2 −2 −8 −2 2 −2 2


I would need help to:
i) Prove Det(C) ̸= 0for any n ≥ 3.
ii) Find C−1for any n ≥ 3.
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